Simplifying

Exponential Expressions

Laws of Exponents
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Which expression is equivalentto (5) ?
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Evaluate: (70 —471 )

(A) —64
(B) -27
© &
O %

Evaluate: (5_2 +4° )_l .

(A)  -29
® 2
© %
M) 26

Which expression is equivalent to (55)>"
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Which 1s equivalent to
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Which 1s equivalent to ?
(A) 2—31’—3
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Which 1s equivalent to 8754) ?
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Evaluate: (é) 3.
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Which 1s equivalent to (%) ?
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Which is equivalent to 6 3 ?
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Which 1s equivalent to ————?

(277)(3)

(A) 341
(B) 341
() 331
(D) 3304

X
3
2 2

Which 1s equivalent to

@ 5
(B) S—x+3
(C) 5—x—4
(D) 5—x+4
Evaluate: “%] 4°J
5
& —
25
®) -
9
9
©) n
25
D)y —
9

4
3

N
Evaluate: (—} .
2

CNI.
B) =
© 3
D) i



Answers

l.

2.

B

D

10.B

11.B

12.D

13.

14.

16.

17.

18.

19.

20.

21.

22.

23.

A

A



